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Input: Colorimetric Television Luminous System TLS70 Output: Colorimetric Television Luminous System TLS00
for hue h* = lab*h = 22/360 = 0.061 A for hue h* = lab*h = 40/360 = 0.111 ITLS00; adapted (a) CIELAB data
lab*tch and lab*nch L*=L*a a*a  b*a X 4 lab*tch and lab*nch L*=L*a @%a  b*a  C'apa h*a,

D65: hue O D65: hue O
LCH*Ma: 76 28 22 Lo g0 35 LCH*Ma: 51 100 40
olv*Ma: 1.0 0.0 0.0 Ciia 90.93 X L olv*Ma: 1.0 0.0 0.0

a . N . 5 i
triangle lightness MT;;; triangle lightness

Nuja 69.7
1,00 Wia95.41
Rcig39.92
JoiE 8126
Geigs2.23
Bgjg 3057
9%Regularity 7 9%Regularity
G*hrel = 34 i g g £ 0 9*Hyel = 20
g*cre=51 RS 9'cre=37
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